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1.3f¢ (if) A=(2,3), B=(4,5), C=(5,6), dI,

() Ax (BUQ), (i) Ax(BNO), (i
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Ax (B-C) @a (v) (AxB)U(BxOC)

T

O @G sw

2. A A=(—-1,2) d (i) AxA, /(i

A x A x AR

O @ s

3. I AB &  wHHE @ 3R

AxB=1{(32),(34),(52),(54} @ A >
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4. A x A ¥ Hdd 9 37194 &, 57 (-1,0) a1 (0,1) +ff

¢| TR A STd BIfSv adr A x A Hif3y|

O @ s

5. If¢ A={1,2,3), B={1,4,6}, C={1,2,3,4} dl IAGT P

Ax BCC(CxB

O @ s
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.36 A =(1,2),B=(2,3),C = (3,4) ol (A9
I A fAdbTer:

(i) A x (BUOQO),

(i) (A x B) U (A4 x C)

(i) (A x B) N (A x C)

(iv) (A — B) x C

({(1,2),(1,3),(1,4),(2,2),(2,3),(2,4)}
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(41)1(1, 2), (1, 3)(2,4) ;
(44){(1, 3), (2, 3) }
(10){(1, 3), (1,4)}
B. (1)1(1, 2), (1,3), (1, 4), (2,2)}
(41){(1,2), (1, 3), (1,4), (2, 2), (2, 3), (2,4)}
(4){(1, 3), (2, 3)}
(10){(1, 3), (1,4)}
C.({(1,3), (1,4), (2,2),(2,3), (2,4)}
(11){(1, 4), (2,2), (2,3), (2,4)}
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(#9){(1, 3), (2, 3)}
(0){(1L,3), (1, 4)}

(1{(1,2),(1,3),(1,4),(2,2),(2,3),(2,4)}
(#){(1, 2), (1, 3), (1,4),(2,2), (2,3), (2,4)}
(444){(1, 3), (2,3) }

(1){(1, 3), (1,4)}

Answer: D
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2.3f¢ A ={4,5},B=1{6,7},C = {4,5,6} I
fAgfeifd sird &9
(i) (A x B)U (B x 0), (ii)

(Ax B)n (B x ()

O @ s

3.39f¢ {1,2,3}, B{3,4}, C{4,5,6} dI fAgfaifdd siTd &»:
(i) (A x B)U (B x C), (ii)

(A x B)Nn (B x ()

O it s
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4, Ife A = {12} or B={34,5} d fe@w f&

A X B# B x A.

O @d s

5. Ifg A={1,2,a,b,c), B=fa,b,c), C={2,3,c) af AU B

del B — C & UH A & Hagdi Pl ford

O @ s

6.a 3R b & A Fded IS

) a 2 B 5 1 .
(i) (§ +1,b— §> = (5, g), (ii)
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(a +b,a—b) = (3,5)

O @ s

7.0 A ={01), @ (i) Ax A, (i) AxAxA

fAeBTet]

O @ s

8.3f¢ A x B = {(a,b), (a,d), (¢, b), (c,d)}
AT B & 319Id] bl RUIAgG P

O @ s
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9, afg A x B & GiG| 3aad
(—-1,2),(2,3),(—3,1) & d a1 ©g 31aud
fored|

O @d s

10. f& n(A) =3,n(B) =2 3R Ax B & dHA
37934 (x1), (v,2), (z,1) & I A 31R B s71d $ifae|
A x B 99 31934l & fors|

O @ s
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1.3 A x A 37994 fo6 I 4 g f59H (1,2) U
31994 & a1 A 3Tid B iR A x A & A9 3/g3al
& ford|

O @ s

12. afg
A= {a’abapad)aB: {p,d,e},C’: {p7 2 f’-g}
dl fezmy 2

Ax (BNC)=(AxB)n(Ax(C).

O dd s
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13. I A =1{0,3),B={4,5},C{7,12} @
D = {13, 15} | fEzmy 3

(Ax ByNn(C xD)=(ANC) x (BN D).

O @ s

14. If& A={2,3}, B=(3,4}, C={1,3,5} dT D={3,4,6} dI
feraart fe

{AxB}n(CxD)=(ANC) x (BN D)

O it s
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15. I A={a,b}, B={c,d}, C={e} a FAHiferd &1 IaU=
P
i) (A—B)xC=(AxC)—(BxC0), (i

Ax(B-C)=(AxB)—(AxC(C)

O @ s
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